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1. Which of the following statement is the activation signal of fatty acid for B-oxidation?
(A) Forming acyl-CoA in cytosol
(B) Lipase digest triacylglycerol
(C) Carnitine is present in the inner membrane of mitochondria
(D) The concentration of blood sugar is low

2. Which of following amino acid is the essential amino acid in humans?
(A) Glycine
(B) Asparagine
(C) Cysteine
(D) Valine

3. How many FADH?2 are produced after a molecule of glucose completely oxidized to CO,?
(A) 1
B) 2
) 4
(D) 8

4. Which of following molecule is directly involving in salvage reactions of purihe

nucleotides?

(A) Ribose S-phosphate
(B) Ribose
(C) Phosphoribosylpyrophosphate
(D) pyrophosphate

5. Alot of hormones control carbohydrate metabolism. Which of the following hormone

reduce the glucose level of bloodstream?

(A) Glucagon

(B) Insulin
(C) Epinephrine
(D) Androgen
6. Humans excrete excess nitrogen as .
(A) Nitrate
(B) Ammonia
(C) Urea
(D) Uric acid
7. The primary function of light reactions of photosynthesis to produce _ forusingin
later reactions.
(A) ATP and heat
(B) Oxygen and ATP
(C) NADH and 3-phosphoglycerate
(D) ATP and NADPH
8.Which of following enzyme requires breaking the high energy phosphate-phosphate bond as
the energy source of catalysis?
(A) Synthetase
(B) Dehydrogenase
(C) Lipase
(D) Isomerase
9. THIBREYIE - FEEFSEAIRERT acetyl-CoA K ZHEFE R HIHTAS (ketone bodies)?
(A) Acetone
(B) Pyruvate
(C) B-hydroxybutyrate
(D) Acetoacetate
10. SHNREAESTHE ST - R A THIEREYE - bl pyruvate B
lactate » FENERE(E W DAMEAE 11 T2
(A) NADPH
(B) H0
(C) ATP
(D) NAD" :
T RIryEERED - o2 a A i (glucose) B R ME(fructose) B B BE AT BX & B2
(A) Lactose
(B) Maltose
(C) Sucrose
(D) Cellobiose
12, ARGVl e (vitamin) 9 > 713 2 FHATEEY)B-carotene FTfT4E A 119?
(A) Vitamin A
(B) Vitamin D
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(C) Vitamin C
(D) Vitamin K
13. 48 K% %) DNA /KEEEf(nuclease) & 7522 T 51 {afHE - E ¥R 1 (cofactor)?
(A) Mn**
(B) Ca*
(C) Fe*'
(D) Mg**

14. {# FHERE(HC) KSR E/KAIE R {E (pH value) - W DUBEFREEFE N T BV EZ i
fEEt(pH meter) R BM] » SAEEIIEERE B 6.0 KEEHR{E K 2.0 FVKBNR - KERIE
KERUMHERBEN HTUEEE - FEUE—eREE e RE RS LR
HER TR DL TR EEE?

A 1
B) 2
(C) 4
D) 6
15. BREQERRIEEL - FolEE 2 A2
(A) HKeat ff > FrZE BES FEURELVRERE
(B) HERNEYES M
(C) LIt &R IERE{CREM I FERY T
(D) BEEHEESBENBBERERCRE - DERESEELERE

— -~ MEE GLUE - EE109)
1. Please describe the effects of uncoupler and inhibitor in oxidative phosphorylation.

2. Please explain why human cells can’t synthesize glucose from fatty acid but
bacteria can do it.
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